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. Ye-SATEIT gaf =1al ¢| ¢ree according Lo G
®) ™I 9+ id xid’ G F HER 7 () The strinfiid®id id” has only on¢
UF YS-SATEIT gay & i " parse fregaceording 0 G ¥ 1
© T “id+id xid” G & IR S l () The'string “id + id x 1d” has exactly I
2 <4wo'parse trees according to G ]
Y&-cAredr a7 gl |
d T “id+id xid” G F IFER & ¥ (d) »The string “id + id x id” has more
3Ok 9E-eaTEar g8 & 4 than two parse trees according to G 2
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2. fAtaf@a # 9 Fia-ar S AR 3 @ Which of the following heap memory ©
HR TE S AR s & allocation strategies is likely to exploit

spatial locality of Memory accesses in a

s TuEar @ g9d gl 9der program, the most?
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(C) N ext I‘1it

(€) 3TerT 39FFA
) Last Ft

(d) 3ifas 39ZFd
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3. Tfaf@d & ¥ 31 T8 &7 @ Which of the following is trueZ
. o ; Both Parity and Cyclic_ Redundancy
(a) THAT U9 TR FfaRdddr Sd al, (®) Cieck are error correcting codes
¢ GUR HT el &< & Do
y 2 Both Parity and Low Density Parity
(b) THAT U§ A gdca §HAT SR ®) Check Code are error correcting
arl, I FUR F arer FT & codes 1
e { Both Reed-Solomon code and Low
© ﬂ? ;_R R G Density Parity Check Code are error
ST Fe &, T gur FA dTel HT correcting codes
8 i
@) THT 3fANRFaar sig wF T g (d) Both Cyclic Redundancy Check and
3 Low Density Parity Check Code are
HHEAT ST e gl T qUR FE |
Gt ORTISEN error correcting codes i
CIC I TS -
4. yf¥cufda A*B+C*D &I ok (Ra¥) | 4~ In Reverse Polish notation, expression
o o 3 =a w9 B S o A*B+C#*D is written as
) bS
) *
(a) AB*CD*+ M B+cpr+ ¥ ARxS Y
. (b) A*BCD*+ (b) A*BCD*+
/1 © AB*CD+* (© AB*CD+*
(d) A*B*CD+ (d)- A*B*CD+
W 5. U gefRld Haided & In a vectored interrupt
o
' (2) g TS & AAN H @[Fd TUH W (a) The branch address is assigned to a l
= e ¥ fixed location in memory
(b) ITUFAT GIT JANET (WRR) N §E (b) The interrupting source supplies the L
T iy W FT B branch information to the processor '
% () FF UH F FEMAT (WAW) F (¢) The branch address is obtained from
1 IR A 9T BT S E a register in the processor
(d) 39Fd H 8 FE AL (d) None of the aboye
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(a) O(nlogn)
) Ofogn) ) O(nlog™
© Om?) ® 0(ogn)
@ O © 0(®?)
@ oW
7. #A AT S
_ fuaﬂ‘ TH STEH qIfer T 3 Consider 2 Jdatabase table T contaipine
w Y & FAA & Z L) X and Y sach of tyPe Integer:
' a?ﬁ a Eorcr-y : two columns an )
gHFR & &l difoer & . Rl After the creation of the table, on€ recor
e i Holel & de, 39 x=1, y=1) is inserted in the table. Lgt I
- ¥ X=1, Y=1) afm nd MY depote the respective maximum
Ewe) fena arFEaT & MX 5 = values of X and_Y among all ref:ords in thz
ey ol gHg : TS My table atany point in tame- Using MX an
q¥ X U9 Y &T 33 difdar & MY, new records are inserted 10 the table
zafr Rapret A ween ftsaH A gAfd 128 times with X and Y values being
¥ MX Td MY . MX+HL, 2 X MY+1 respectively- It may be
& . FT SRANT H [F GUCER noted that each time after the insertion,
X ug Y & FHAW MX+1, 2 X MY+l alues of MX and MY change. What will
e grer 9 Rers 128 SR et '“-E--:--: 5 b?t:he to}tltput of the fo]l_owilzlg SbQL query
e & % after the steps mentioned 2 ove are
] e ik ™ & & X 1?{'3%1;[ 3 carried out?
’ e MX Td MY ¥ @ FRafe e € SELECT Y FROM T WHERE X=T7;
| SQL. geaT (Fd) 1 ARV (35T T
v T Ta & el X=7T 9 o
@) 18k @ 127 3 =1
(c) 129 © 129
N
(d) 257 i e g 2
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S et AR AR ————— i 8" A full adder circuit requires
“ A
% o LS 3R ar SUEDS (a) twoinputs and two outputs
§ i

®) & F7E AR e ey
© & g9 3R & smsee
(d) WWWWEHJ

9. FrEffRe aRuy wr of "

ot -

’ B
y
(a) XOR
(b) NAND
(¢) AND
(d OR
ﬁ 10. us g& 9Rwy, S @A (LOW) 33eqe

YalA Wl g, 99 aldl 3§9e 39 (HIGH)
g & 3ruar gl sage faeT (LOW) &id &

g/i//i (a) AND

o () NAND
() XNOR
(d), XOR
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() two inputs and three outputs
(¢) three inputs and two outputs

(d) threeinputs and one output

9./The logical operation Of the following

circuit is

A

Y
ef >
\,.f,,\g

(a) XOR \)\ 2 Pf)(g
(b) NAND @,(5
(¢¢ AND
(d) OR

IVA logie circuit that provides a LOW output

when both inputs are HIGH or both
inputs are LOW is

\ -:_14 o
(a) AND \
() NAND a2
(c) XNOR
(d) XOR

e
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(a) Wﬂﬂ?ﬁmﬁ'(ag)ﬂwﬁﬁ

(@3) & ufafagor aq

FefeT A (33) & SRR
(© UF FEEA GG (98) o
Fait (d5W) & wReE i

@ I FAEAT Gt (I58)
Ffer At (959) & &

w5

12, G e (RS AR
yufAEar  PRdar  Sowe (g
mmﬂmam%
(@) O gonfodt # SrRifAEar egceHuT
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@ \"“"-1111‘711‘_1501{0110\”6:] in LinuX 085!
mode

OF |
o pHEPOST 75 L
uTE! nultithl'ﬁﬂdmﬂ

aneE I
following Mo

i One
One User Thread mapping
I
& Kernel Thread
i e
Many User Threads mapping 0 On
o Kernel Thread
: ..
One User Thread mappine to Man3
& Kernel Threads
i t
@ Many User Threads mapping 0
Many Kernel Threads

Surpose of priority inheritance protocol 1N

12 - -
synchronization mechanisms 15

(a) To prevent priority inversion 1n
systems having two oOr lesser
priorities for a resource

() To provide mutual exclusion
between threads and prevent data
corruption

(¢) To prevent priority inversion and
ensure  fairness 1

. in resourc

allocation ‘

(d) To allow multiple threads to access
any resource simultaneously

e
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Praiaa & ¥ Sl P e

SIURT ZaRT Eipe TS 1 IR Rl

(a) ab*
(b) a*b*
© (ab)*

(d) va*b
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“ks-/bonsider the deterministic finite-state

C

automaton (DFA) below. The alphabet is

{a, b}. The state with a small incoming

arrow is the initial state, while the double

circle state denotes a final state.

Which of the following regular expressions
defines the language accepted by the
DFA?

(8 ab*
(b)) a*b*
(¢ (ab)*
(d a*b

X &
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e ﬁ'ﬂ- i gy‘i- i E I e fo]lOW g Sceng.;rm : ydata
T % A H e e, MO 4 amiator e T RS
: o 2 . wqﬁ par;dig ?
i TISTHTE :
(a) TS g RIEC S FS is not suitable for scenaﬂos
2 Ty AT B IR TEy RSENES @ (DR Uit elsimultaneous
7 £ g el gl i w : rites to the same file
TIEHTE e
(b) T (Gre W8 HDFS 18 suitable for storing di%lta
i = & related 0 apphcat:\ons requu'mg oW

ncy data access

l te
(C) (et o7 (© HDES is suitable for storing _df_i-ta
CiLE 7 (t'ﬁ-‘»ﬁ'&') Lol mw. related 10 applications requiring
AR H A high latency data access
¥ fow 39gEa ¢l SR F
¥ i # Al ael (d) None of the above

@A standard Java API for monitoring and
managing applications 1S

15. W“W*Wﬁwmm
mmnmﬂé(ml)g Qa?

(a) JVM - (@ JVM

(b) | ) b

© () JMX

@ (@ JIMY

16. - '

T ﬁm“ 16. Which of the following clustering
‘ x <o technique is used by K- Means Algorithm:

() TeFHE @W} a'cﬁ?h‘sh‘ : (a) Hierarchical Technique

®) ; : (b) Partitional technique

© () Divisive

(d)  Agglomerative
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17. T TRET & west # MeAfaad F IGCE IT/ﬁtch the following 1 t}lhe}fonze;z:;y
. Information Security wni¢ 2L
T FITUR VAT HiaT
: associated L
(@) (g Reeefar|(P) 32T st @) [Ingress filtering  ((P) Daia
; leakage
ii prevention |
(i) [z3F freefer [(Q) [worelr & (@) [Egross filtering Q) Hidintg
e bz identity of
= systems
REA G)[NAT (R) |Keep track
(iid) [Teudy (R) |TCP/IP 4 of TCP/IP
R 1 3 gt
& ZiT)_Stateful firewall  NS) Malicious
; traffic
(iv) [Feepd (S) |gefrarstret prevention |
prare fps AU @i
@ @) -(S), @) - (P), (i) - (@), (v) - (R) @ 6 =), @) — @), (i) — (@, (v) — ®)
(b) (T) — (B (‘i.i) —(R), (1) — (), (iv) - (Q) () — (P), (i) — R), (ii1) — (S), (Gv) — (Q)
(© (?) —(S), (1.%) - (B, (111) —(P), (iv) - (@) ©@ @ -(), @ -M®), Gi)— (@), (v) - (Q
@ O-®),d)-(Q, (i) - (5), (v) - (F) @) - R), (1) — (Q), (i) — (S), Gv) — (P)
Hﬂ.ﬂiﬁﬂ Tlmsheelel F ol mﬁ'a Asymmetric encryption is not suitable for
e ©
(2)  FMfIAT (a) Confidentiality
(b)  TAPNHIT (@) (b) Authentication
© ;K’ﬂ' fafeaar (F1 TRd) (¢) Key Exchange
(d). HaT FEHT B Jer (d) Prevention of Denial of Service
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e T () & mp , pirig distance 7
1 = " . ini u edges fo o
ege @ (B w0 ey % D oncr:‘:ng ver of edge= *
az@?‘n FRI (TSHH) T TEAT Ty %;'ﬁt | :hle}:wing graph Y
1 ; T
(o .
: 6
4 3 6
D 2a
D 2 E
a 10,8 |
Eb; 11, 4 (@ 122 B &)
(¢ 15,4 g 15,, 4
@ 287 @ 287
20, Frfatad &1 Fae Hifere 50. Match the following : 3
(A) TS ARt (@) @ ST & @ (&) Floyd Warshall i};i;t::; P:‘:m
gdH Q’ET Py vertices
(B) ST (ii) T B A x\.. (B) Dijkstra single source
qor | shortest path
! (C) Kruskal's 1i1) Minimum
spanning tree
' (D) Bellman ford' (1v) solving all pair
shortest path
@ ()G B)@) (06, D0 D) (A)-Gi), B)-(i), (©)-(a), D)-G)
) (A)-v), B)-1), (O-(iD), @)-'(,1_-‘) ) (A)-Gv), B)-(), (C)-(iii), D)-Gi)
©  (A)-G), (B)-Gi), (O)-(1d; (D),-({Y) (A)-0), B)-(i1), (C)-(iii), (D)- (i)
@ (@)-Gi), (B)-Gi), ©)-0, @Y @ (A)-G), B)-Gii), (C)-G), (D)-(iv)
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21, Frsifma # & FAEr yAEA N
Sﬁﬂwa%ﬁﬁr%,mﬁwﬁ‘réﬂﬂw
e (FHEIEER) B graer w1 A 6l
(a) arEFIIEEAT faReIyT, FlEEakiie
fazaor, rfawe e faRaser, fC
gSCHIEUT, ATEAfAS T[T T

(b) UeHRT TReSTT, ATFITERAT
AT, R e R, FE
SSCAHIHLUT, ATEATHE He Foiad

(€ dRRET  favemon, A=ER
faRANYT, arERREeT favawor, A
TA RSN, AR FT g
FC FECAHTHIIT

(d) gl fEemo, eI
feemor, FIfa=  gEd @R,
AR FE Golol, FE FECHHT

22. o CregrieRer deeE & el #, LLA)

F AT &

(a) oAl (AER), S fR gAe F I
T o ve-ReEw 1 E, 1 WhE &
IEadE & AT Hed Gl 3idoerd
AT & gl

(b) W(W},G{T%WHM
o e aXd &, 1 9dE &
g F GRN S T HaherT
fia Fd 2l

() s (@), R e # oA
F ot gefeaE & § 3R w4
3 & G RT-3FARIOT T

() oA (AR), St fF g @ ek
g g Je-FeTw WA g, 3UE @
HOF TH SN WRA-HTARO A §
3T T A Hawdd WA Fa g
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ce below best deseribes the

21, Which sequen the phases of a compiler

order in which
typically work?

Syntax analysis, lexical analysis,

(a) :

A 3 analysis, code
mantic .

e intermediate code

ﬂptimization,

generation I
(b) Lexical analysis, syntax analysis,

gemantic analysis, code

optimization, intermediate  code

generation . :
(c) Syntax analysis, lexical analysis,
\, syntax analysis, semantic _analyms,
' intermediate code generation, code

optimization

(d) Lexieal analysis, syntax E_Lnalysis,
semantic analysis, intermediate code
generation, code optimization

@ In the context of parsing techniques,
LL(1) refers to:

() Grammars that parse the input from
left to right, produce a rightmost
derivation, with a lookahead of
1 symbol.

@ Grammars that parse the input from

left to right, produce a leftmost

derivation, with a lookahead of
1 symbol.

() Grammars that parse the input from
left to right, and backtrack at most
once.

(d) )Grammars that parse the input from
right to left, produce a leftmost
derivation, and backtrack at most
once.

12

24.

A




etwork Systems

A Advanced N

ANS/
'grchitect,ure
Super- _gcalar _
1SA— Instructwn Set Architecture
@ 3T w
(d) All of the above
24, TH HGRT SIS
raifead far S mﬂ gl 24 An instruction pipeline  can be
) forer %I 3 implemented by means of
(a dHT
() o aHT () LIFO puffer
(D) FIFO puffer
© R (EH)
() mzér Fa () Stack
= q;]é- el (d) None of the above

F oziRd a1 W HUIGH Feras The opcration executed on data stored 1n
g &l registers is called

(a) TYer-HETels ,)" i (a) Macro-operation
(b) HeA-FAICAA > () Micro-operation

| (¢ fee-gdrest N\ Q (¢) Bit-operation G
(d) SrEc-yETee N\ @ Byte-operatior

‘ \ j

2. 2Nl Elﬁ?ﬂ rlee i 3‘7 %‘(" T &3 26. z\;?:;}tl gg 11:}1;111 io}}izwijlg methods is used to

e gfafey a7 ST (R el €7 o
(a) faws @&l (a) 0dd Parity
(b) |H AN (b)  Even Parity ot
(c) TpaH (mﬂ-ﬂm (¢)  Checksum (CRC)
(@) g () (@ Checksum (XOR)

ICRB Afors fevaar wg-Hl- »(FFILX 13
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27. SQL # Fu4 select * from R, S &8 &

AT &

(a)
(b)
(c)

- @

Select * from R natural join 8
Select * from R cross join S
Select * from R outer join S

Select * from R inner join S

28. fawfaf@d & | Sl SQL geor (F),

Ueh

o 8 gaftg 30 R & Rers

Rz # @l eoew & faew ()
Fr &, ST CSE aAd saw A ford 3R
fasmmer Rerre # 87

(a) DELETE FROM teacher WHERE
dept_name IN 'CSE}
(b) DELETE FROM department
WHERE building='CSEY
(¢ DELETE FROM teacher WHERE
ﬁ dept._name IN (SELECT dept_name
FROM department WHERE building
='CSE);
(), 399FF A G FIS A€l
ICRB-daifrs sifdar ‘oq. . (FFet
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In SQL the statement selec

t * from R, 5 1is

equivalent to

(a)
(b)
(@
(d)

Select * from R natural join S
Select * from R cross join S
Select * from R outer join S

Select * from R inner join S

Which of the following SQL query deletes
all tuplesiin the teacher relation for those

teachers associated with a department

located in ‘the building with name CSE

and which is in department relation:

(a)

(b)

(c)

(d)

DELETE FROM teacher WHERE
dept_name IN 'CSE;

DELETE FROM department
WHERE building='CSE'";

DELETE FROM teacher WHERE
dept name IN (SELECT dept name
FROM department WHERE
building = 'CSE’);

None of the above

30.




SET

mR, Sis

r deletes
‘or those

artment
ne CSE

n:

'HERE

tment

JERE
name

IERE

Zu#l |i5F0

29. :ﬂ%TI\IORua'rNAND;ﬂt\aa?awr -
gROTHT %%
g T SR T g

(a) AND
() XOR

(0 OR

SCIENTIST/EN R Rl £
GINER CRUITY H
R S MEN U ER

(d) NOT

30. weed P U HigHd & =

gfe  det|P| ;‘.\ﬁ?ﬂ:{ T ﬁi?.flﬁ

o -1 T 872

(Rexfieie) # aaliar & a m—,@:%a #

N\ D
(a) det|P| Mo & \\\*‘

¥

(®) det|P| FOH

() det|R[=0

@ Given P is 4 matxix =
2

@), s A | FS Al

ICRB Ao srffvaiar T (A
Rre)-2023 /ScientistiEngineer SC
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@ NOT L 4

oy = W
o O B2
¢ oo

1

3
2
1

denotes the determinant of

If det|P|
matrix P, then which of the following is

true:

(a) det|P| is indeterminate
(b) det|P| is negative

(c) det |P|=0

(d) None of the above
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32,

(d)

@ F & —— e @3 IR 5
s Y v § Al gt & e @S
EIT YT Sl &

() HHIH(FFIFER)
(b) HHZIIS (IHFER)
(© @Y

(@ s

IRTF (FeT) & fov R=fef@a & @
FlA-TT eI 87

(a) IHRFH(FRR) UH grsaqL @ a1
AFed aRT vafda & dohd §
(b) EEATT IcHIAH(EeIe) TRl TH &

FEgA # W9 B dHRd Hel
yafdd & #9d &
() TFeIW HaTH(3eT<C) U
Jeart (FEFeA i) garT wafdd
g aFd &
T ($9) \UF gIEAR SAfAd HeREF
(3e) Bl &
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31.

32.

SET
C

segmentation memory

y, which of the following
ous

As

allocation strateg .
assigns segment numbers for varl
like code segment

part of

segments of a program
and data segment?
(a) Compiler \A

Assembler

(b)

(¢) Loader '70

(d) Linker

Which of the following is false about

interrupts 7

(a) errupts can be triggered by a
hardware or by a software

(b) Hardware interrupts may be

triggered by sending a signal to CPU
through a system bus

(¢) Software be

triggered by executing system calls

interrupts may

(d) Trap is a hardware

generated
interrupt
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a,b

& GT ¢
(a) 2
by 4
© 6
@ 8

34, Ay g AT HEH-HFT SHTHTT @mR) | 3%

a & f@wl TE S IRNFHE IRz

e % o a T b B T EI
S —>aSb|T %
TbT1b & )

G@W!{ﬁlﬂ'm%‘ = \\

(a) {amb":OSmdn} ‘;‘\

b {amb":0<m< m};{f"}

a
© famb" 0<nsmi
@ {a%"0sn} \
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Jé{é{ITMENT TO
compUTER>

g1 OF
L PUSIL :
. SCHQ_}}{_C]&! _ 2023 I
il Finite"
gtates

e initial

1stl

Nondf’-t-efmm
2p) below:

MINIM AL

states in the
Automaton

Th
Deterministic
(DFA) for this language 18:

(@ 2

® 4 - O,
: =D

© 6 )

(d) 8

Consider the context-free grammar G

balow. Here S is the starting non-terminal
symbol, while a and b are terminal

symbols.

S »aSbhlT
T —bT\b
The language generated by Gis:

(a) {amb" :0€m< n}

® {a"b":0<m<n} >
© !Lmb”:()qnsm} S

a
@ {a"0":0<n} ¥ O"b
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35. Which type of datd storage system

Cassandra 157

35. sy fRE WER &7 ST HIROT GO &

(a) Distributed

(@) Tafia

(b) FEIEFHA () Centralized
(c) THAAR (c) Parallel

d 7= (d) Dumb

36. 6 IS HAEE, S Haw A HISA SEyﬁ]e cloud infrastructure solely for a single

organisation within its premises 1S

¥ R =0 & ofew & &

(a) WEAAF FAPE (a) public cloud
(b) TS FoEE (b) « private cloud
() VAT (FIA) FA35 (¢) common cloud

(d) FHF FAES (d) hybrid cloud

37, @8 # IAEAH g (FUSH) F THEA & | 37, Temporarily renting the capacity to

T gHar &7 HEEy daf W e W handle spikes in load is called
3T FIAT FIT FETT 87
(a) Fa3s ARGET (@) Cloud sharing
(b) FEs FfEAw (b) Cloud computing
(© F3s FRET (¢ Cloud bursting
(d) Fo138 AT (d) Cloud loading
ICRB-di1fa% fariam ‘oo a. (Feeex 18

f@#m)-2023 /Scientist/Engineer ‘SC’
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@ HAFa AfEe 3= o M
(d) &
39, raEE™r (MCDC) TFAT ST g 59, The MCDC software testing technique
# RAER & L " tands for
(a) Herdel HERH i T (o Multiple Conditions Decision
e Coverage
(b) FeCTe Favsr BRI FERE ®) Multiple Coverage Decision
A - Conditions
Condition Decision

(© Modified
Coverage

(¢ HAiEEEs SR SRR FHaST

@ 3I9gFTHEH Fg Aar ' ".'. (d None of the above
\

10, grpor  (RENRE) SifT c5 40/Regression testing focuses on validating

(1) module structure
(b) module interfaces

© e % : (©) software changes
(d) None of the above

ICRB A5y srfdva T @FFA 19
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" SCIENTISVENGINEER ‘SC (COMPUTER SCIENCE) 2023 _|

4l n 313 ad T {ﬁr—m L =g A | 41, Time complexity to find t
A T F T TT ST & binary tree having n nodes is \ 4 EO
% #y S/ JhW
7% 8069 (a) 0@ Lo
w4 ® O \ 5\ Y i
kns? i ® om Spes
ML ©F SO © oW 7&\}1/ N
e~ @) Odogn) @ O(ogn) )
| l | o
Pralé 42, el T
’ E.“:F:c'f (‘;ﬁ}ﬂ'ét] @rst Ll T{\B‘I’Eﬁr— 42. ) The preorder traversal of a binary gearch
TFHAT (10, 5, 1, 7, 40, 50) & @ gEEA- tree is (10, 5, 1, 7,440, 50). The postorder
raversal 1s
e (q’lﬁaﬂg:) i traversa )
LS I Eiias
(@ (1,5,7, 10, 40, 50) (a) (145,7, 10,40, 50) g
- PR
() (50, 40, 10,7, 5, 1) (b) (50, 40,10, 7, 5, 1) o
= = N =~
) (1,7, 5,10, 40, 50) ©h (19,5 10,40,500 " "\ 50
(d) (1,5, 7, 50,40, 10) (@ (,5,7,50, 40, 10) A €0y 4%
i
, 43. f(z)=8x"+3z+12 3 yfFea@d. # | 8. The minimum number of arithme;i::
;L;m ¥ o & IO Tt operations required to evalu_-;f;_ the
& = : @ \;’\/ Yoy e expression f{z):§;3'+3z+1'2
lo ) ) -
(a) 4 +0) 6@ (@) 4 =
\ g)q/\O) T TR e
® 5 ) ® 5 ;
© 3 \D— N oS8
(d / 3 P2 Lo,§ R ’)
018 s I d) 6
) o @
| \ e U *9
[QRB-AS AT T FFAR b0 \ VS
PrrT)-2023 /Scientist/Engineer sC o \ M
(Chm‘puter Science)-2023 S'I’ wO_

he diameter of a

|5
| =l
44.
\0\’\
s /%
! »
\
45.
\)'S o
ICE
=
(Co




J} gC)
Lo

.60

EST
SCIENTI FOR
STIENGINE%E?? Ul TO THE pOST OF
C (CompUTER §CIENCE) = 2023

anisation 18 connected to

44. 25m S€C HEET arer
1 S
) @ host in one Or&
¢ in other organisation using
T. Network

FuET Fd By
qaTee & W g O UF fre another host
Jzad & dAcdd Uﬁﬁ'{-‘ﬁt"{@ T3 &) 39 | Gbps link with 25m sec RT
& F 37 admmistrator of this network tuned the
‘ T &9 ﬁ' aéT q_—,ls—(-_l. ; ﬁaﬁ; packet size to 1000 bytes to transfer large
T 1000 ¥15¢H & e T T & files optimally over this network. In order
fraT i HES to have channel utilisation = 06%, how big
g > 96% ¥ ST : R
o IR o) window §12€ (in terms of packets) should |
gred F & Tau &S J '(;a;t;l'ﬁm‘lﬁm @e (as)sq‘l.lming ACK packets have DO !.
o miaie R e "
(T® A=Y
s YreE F RS v 7S ) T N € ST I
?
}@ (@) 2000 ¥FEH | s < t
; (b) 2400 e Tols (a \ é (a) 2000 packets \B
= : = . | \
. (© 3000 Yhcw g9 S0 57~ () 2400 packets @, |
ES l\‘\r .
;A @ 400 G (© 3000 o
0 g ‘g_ . 2 o packets \o° '
g / N S Gy = ri x@OO, X /
§ ) e N SN
- " 2
i I = 95
45. CSMA/CD #T 39dWET &l drd % Y % as |
: 2 HHT( 5. 3 L=
)2 3, 3T 3RO A FAGH \:/'.n a computer network usi g xlfee
l)g/ SoM9 1500 arzeH &l 1 RIS the minimum frame size fi ng CSMA}CD”Lg}
) - T e o el is 1500 8 r data t
# e JHoRer A i b Yt tl‘un:fe bytes. What will be thrar::fferr} =
=, Far gl afG 39 FEel e speed in this network e data———
3 & R » t 1 er
A Fha 7ifd 250 O cabishfitho sl il Km%75
. i 000 Tl Fhs b AR 250000 Km/sec and speed in the cable is s
i %J)ﬁ R el 1 g e o in this network? no repeaters are usgd—fa
(@) l"Gb T % 1t =
ps -
v Sk
N ;
(b) 100 Mbps WS %8 n8, — (@) 1Gbps o
()« 500 Mbps £ (b) 100 Mbps e s S 28 lo
(@ 1.5Gbps 8§ }3_ (© 500 Mbps R
(d
[CRB S errer e T ) 1.5 Gbps
T)-2023 [Scientist/Engineer |C ¢l \bo0
e 2
s ¥ \&

(Computer Seience)-2023
q .
o <6500

ol

T o I,'f/aﬂfw_%w ' ”W/



46. qdead HBreEfFa -tabetd*ef ¥l a = 10,
b=2c=5d=3e=4f=1% U

HHEAFT 1 Feaiger ]
(& 3

(b) 4

(© 10

d 6

AT 4wt fi, fo, fo, i 3T GRERRE)
Sfeerar &

filn) = 2»
) = @
f3(n) =nlogn

| St grfeverar T FFR R & gz & R sl
¢ AR wfam _ 2023

WRITTEN TEST FOR RECRUITMENT 10 THE POST OF
SCIENTIST/ENGINEER ‘SC° (COMPUTER SCIENCE) — 2023

SET |
The prefix expression 18 —+ab(:-t;d*.§{“ (17) h) 49.
Evaluate the expression for a = 10b'= 2, Ya :

C=J,d:3,E:4|r_=1 (_{A.f?_?r L o \

(i [
anahs \/

(a) 3

(b 4 Y
{CY () N
(d 6 =

47~ The asymptotic complexity of 4 functi
f, f2, fa, fa are
fi(n) = 2»
fﬁ(n) = nl32)

fa(n)=nlogn

f-l (n} = nogn)
fa(n) = nlezw A o uff : d FRRY-Y
& = rrange them in increasing order of .

¥ i a1 3 IR complexity

(@) fafofsfi (@) /2 : f\i .‘Pl

(b) [, 1205 f4 b)) 11 fofa fs

() fafsfsfi © [/ -

(d)  fa11/fafs D fofufsfa

b= 50
48. Ife ycds TEAT UF 3 I codeg dear (48 \What is the maximum number of
= : comparisons needed to sort 6 items using i

e, a 5T e (mt) & ¥ 6 7t radix sort, if each number is a 3-digit

& e (FIE) & foIv ymaras genst f decimal number?

@ 120 (a) 120 2 ),(,,3\*‘5-“)

®) 180 (b) 180 k

() 210 (¢) 210

(d) 860 (d) 360
ICRB-471fes arforar ‘oo a. (F7ex 29
farsmeT)=2023 /ScientistEngineer ‘SC’ ;

(Computer Science)-2023
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SCIENTIST/EN GINREIE{;%CRUI
‘S C’

_.;J\"; 49, wH FAGICA(TETIA) F ACID :
3, 'Durability’ IO A 3y ; ﬁ: f
. U
awel FRAUIC CART ST A Ry oy
qRed @ A 4 5E Ry § a9

(a) mﬁm%mrmﬁm
FT BISHL

ONRE s AR G R I e o

© Regaufda fwear & =y #
EIECTS

(d) Fﬁa,ﬁ%mmwﬁﬁm
&

50, Gfar WrART &9 (fRE A i) fE
 gafad 82

(a) GfFAA (EERGIE

(b) S
© g
(@ we=E IR
oy A (FFES

ICRB-Afars HfHA
farsmen)-2023 /Scientist/ER
(Computer Science)-2l)23

gineer sC

43,

23

requires that th
database by 4

pe]“SiSt

(a) Except

system crash

(b) ExceptIn ¢

(c) Except in cas

in case of a

TMENT TO THE

COMPUTER 2%
Amon”“‘t the ACID propert-ies of a
transaction‘ the property

e changes made to the

transaction

n OPerating

ase of a disk crash

o of a power failure

(@) Always, even if there is a failure of

any kind

50. Fifth Normal form is concerned with

— e

=

(a) Join dependency
(b) Domain-key
(¢) Multivalued dependency

(d) Functional dependency
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5l T=fafaa & T FHieT-FT el 87 51.  Which of the following are true?

() Ina graph G with ‘n’ vertices and ‘e’

< n % I (S Ry R (¢ 4ges, sum of degrees of vertices =
H, FEART & FI0T F GTHT = 2%e o%g _
i : ii) Eccentricity of a connected graph A
(i1) ;f_ﬂfﬁ—aw F Ihgar T o AH (i) caurc;elrzeir:; }t;c e )
ST S S &AEF 8 T ety J
(i) IS FT R % & qugn T A SR (ili) Girth of a graph is the total number
B FA TEAT A B - of edges in the shortest cycle of the
; = i graph
(v) SIS F WM FeaeRt & Fror g (iv) Graph with equal degree for all
) f% gl & vertices is multigraph e
/j @ @, @), i) @ (), Gi), Gi)
b @, 4, Gv) ®)  Gi), Gid, @)
© 9.4, @ ) @), (i), V)
Y Wﬂ'ﬂ;ﬁ A Emg el /(;d) None of the above

52. IfE wH s gagE IME & U Bels Mere are five faces and nine vertices in
HR A Feater ¥ ar axt & g 3 an undirected planar graph, then number

of edgesis
(@) 14 (@) “14s NrEY o
®) 16 ® 16 v 0.
() 12 : (¢ 12 3 o
(d) 39Fa 7 A FE A& (d) None of the above 5. Ik -5
53. wH Ja F 6 Ay g, 5 Fhg T 3R Ma bag contains 6 blue balls, 5 white balls @ o
4 R T & o AR v T ey |77 and 4 yellow balls and if & ball g drear S X
t at random, probabili : ] -, =

i e - N\ 21;1“& 1:1,211 i;)m probability of not getting a @Q’ 1(,,§"'
ifAear gefr o8 cwW |

2 5

......... O @ o J

1
O ® - : 0{3 u

i 3 \o/ Z P
Of - © = < N2

f
@ 3HWFTH g P A8 (d) None of the above ¢ =N
_ e
ICRBSIRD AT o, o (reeqew 24 W o [ G-
faiTen)-2023 /Scientist/Engineer ‘507 RGN &
v A g G\'g

(Computer Science)-2023 o* <X




A Y

e T —

54 far s %
(R A=)
Yhi¥
) O bl ] ey
L T T
F Y
T 3
GEIE
HIEH e
&l
(i) [regH Jrafe (Q [sg-sramar
CEIGED & == A
EriEr
(i) |39 3afer (R) [sramaraser
u/gx‘l ek ek
57! | ___%
ey S — L
) S B (e WEe) & ded A,
PR & QAT F9 Fe 87
™ @ G- ®), 6@, (W - @
b @) - (@, G- ®), i) - E)
A © @)= (), i) - @), Gi) - (@
,v”‘m ) @) -®),d-@Q: (i) — (P)
o /\.S*" ICRB-sforsr srfrar o L (@A 25

S fa9m)-2023 /Scientist/Engineer 'S¢’
(Computer Science)-2023

L

wﬂ ;fm:

iy

o ///{
Wafjg” M
2 47y

asrrﬁ'm AT oy
F’ %:hﬁ(“%ffasfm*‘ﬁ*m”ﬁ SET
S WRITTEN TEST FOR n e — 2027
SCIENTIST{ENG[NERECRUITLIENT '10 TH POC]! (?,FZOES

4. rff’ﬂld’_rocesq Actlvlty
Scheduler type
E_l;;r (P) |executes
scheduler much faster
to reduce
hstage of]
PU time
| h &4
‘Ei_i.)dl\fledium term ?Q{ controls
scheduler degree of
multipro
gramming
= \ i = |
(iii)|Short Ter ®) lis
Scheduler7/ associated
with
swapping

With respect to Process Schedulers of an
operating system mentioned above in the

table, which of the following statements is

correct?

@ - ®), G- @, - (Q
b) @) - (Q, (@) - ®), (i) -
© @) - @), a0 - ®), @) - (Q)
@ @ -®), @ - (@), (i) — @)

/ mrf LT f,fﬂl'f.'_-' 1

‘tﬁﬁi

Ifl
W

e —
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ts
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WRITTEN TEST FOR »
R ‘Sc;

g W UF A IS 0F 7y

X 31 & T
i F T A WH 05
e 8§ & i

(@) ()T (i) e
) () 3Tl (1) el
© ()T () Ter
) @ Terd (i) el

5. e MITTIERIOT (TENCIEoiRIE) el #,
FEuarser Afaf OS &I HART Rl 2

(a) GUT THTHIHIOT
(b) TR HTHARHTHRIOT {T«
© () T @) 2= \

() IRFT H { B Al \}s
‘\‘\\ 0

o ey St @ gdRd e 3w
e a7 T Grfaree A { w87
(@) FHY 3Tl
(b) = GERT faaTSte
© " 7fet 3eIge MR
@) RrRER (R WP

ICRB3smfares arfirefam ‘w4 (FFAT Al
RsT)-2023 /Scientist/Engineer SC°
(Computer Science)-2023

il

] ."'f ﬂI?

g

|

M

R
SCIENTIST;ENGINEEECRUITMENTT ;1
R

» il
W

e Or false :

. whether trd se ]
5Ygﬁ:e\\Ti‘rirtf;ﬁua}is.ation facilitates multiple
g & 0S simu]taneously on the same

ha‘rdWﬂre
In dual b
simultaneously

oot, multiple OS can run

(i)

(a) (i) True (i) False
(b) (i) False (i) True
© @ True (ii) True

@ @ False (i1) False

58, In which of the virtualization techniques,
hypervisor modifies the guest O5?

(a) Full virtualization
(b) Para virtualization
(c) Both (a) and (b)

(d) None of the above

59. \Afﬂ]jch 0f}the following is the cause of Pin
of death issue related to ICMP packets? ;

(a) Buffer overflow
(b) Divide by ZERO
(©) Missing input sanitisation

(d) Privilege escalation

l'- :-IJ ['I.H h
[/




3;1-31'21?'[ ‘ﬂr il :.( = fﬁ‘m;n ¥ o
T o
ginc RUIT T 20 s SET ( -
Eﬂﬂ isro VRITrI E’\] TES g?\JFER C’ (CNOIMNT TO TH}‘J PO&I‘ OF C :ﬂ4
_ SCIENT pIST/ENGE UTER SCIENCE) - 2023 ‘
o o e chart is also known a
60. R"ﬂ?ﬂ_gcm'ﬁ : 63.
SATAT STl &
i = I (@) UML diagram
; a) A
5 reeh s ()  Structure chart
i (6 DFD
& o 25 e (d) None of the above
3 64.

61 o =RT, n A 3R p e ot & FFd 61. McCabe’s cyclomatic compléxity number

f a pro & wi
I @ & e L program control graph ‘G’ with
S Ll - 2 e edges, n nodes and p disconnected paths
FEFARRE e irrcrall gear is defined as
¥ wg #F ofenfa fFar SIrdr
gl
(1) n—e+2p (8 n—e+2p
() e-n+2+p M) e-n+2+p
(0 e-n+2p \J {©) e—-n+2p
(d n—e+p (d) n—e+p \{ ~
O - *
62. TS HEw AlEd gufar &l 62. Entity Relationship model shows the _ 3~ g
(a) WfdF 27 (a) Static view % - Kc) -}
(b) EEAIEIT (b) Functional view (Thseiat
¢ =Ifas z37 (c) Dynamic view o $ t
(d) 3‘¢§‘=FF1‘ Hafr (@ All of the above W\ .Ln
» G b \I

ICRB-311fe1% MBI T, (Fcapey )
] 28 ; ek

fa7r)-2023 /Scientist/Engineer ‘s N
(Computer Science)-2023




%'%faﬁrﬁ)ﬁqﬁ*im SET
Wslgg‘ETEN TEST FOR EE R ey — 2023 C
N'lISTfENG[NEER(}RUITMENT 70 THE pOST OF ks
SC (¢ DR SCIENCE) =2 S
m‘rﬂf’[ =5 - OMPUTER 2——
63 [ :\qTaI !Ea‘a EI(_“ Hﬁ'mii- . ]e gl‘ﬂphs
e ICE Ll gEam (315) Maximum pumber of SImP :
7 ‘ possible with 71 vertices
: (a) Qaln—b2 R
(‘b) 2{n—1}f2 (a) 2,,[.—,—1]-‘2
(C) 2(nl.’z+1]l’2} (b) 2[,;—1)-"2
{ , 2(,,[,1-1- 12}
(d) 2n(u+1) (L.)
(d) gu(n”)
4. fﬁmﬂﬁ’@?{ oerTT-a ; »
6 _ THAT  F @y GASHQY the NFA with epsﬂon—tranmt?ons
] , TS 3eeg oee below, W ich is meant to accept sETinEs
N o I TOT it 5 correspondingd!:o_a Jexical tokgn
ICU G S mEE = the token digif corresponds
e ﬁ%i " BT (digit) extended regular expression [0
HifT=Fa [0-9] & ITET Jetter corresponds to |2-Z2 A-Z): Ir} the
et = diagram, 2 small incoming edge indicates
; mam[a—z A 4 (letter) FT @A 3| a stnrt, state while 2 doubl
5 ARG G HETT R URH H indicates & final state.
oy F S ST ¢ o9 T dfas ged Which of the followang extended reg;}a_r
ST Eal : expressions corresponds to the token 1d:
ety @1 SR & & :
-~ Rfag # O e fEaRd A
B EGE s Tl IEE U I P 9
€
£
letter #
(@ letter (lettex | dIgHO” (2) letter (letter | digit)*
(b) (letten| digit)* letter (b) (letter | digit)* letter w74
€ (letter | digit)* | (¢ (letter | digit)* N/
(@ Jetter (letter* | digit) | @ lotter (etter* | digit?)
ICRB- s aiffadl g A FFES 929

fa=men)-2023 /Scientist/Enginee
(Computer Science)-2023

r'SC’

il i "

W Irn.
O ”’M iy

--‘-‘--‘?i-‘}’fla._* J!}{‘. --.,.,wﬁ . :

) ;. i L S
I jif \ %ﬁ' nm;:@tp‘#h
it

b

g L " p‘ _. .




e T R RS & 0% e o
e ¥ S Shay 00
CRUITM
JE _— FOR.?E sC Coﬁlgf]m THE POST OF
1 g[m® | RITTEN 1o GINEE TER SCIENCE) - 2023
SCIEN : 3 :
i__‘_f a W ECl M Internal data communication throueh
& AT e AGETal fOmputer network, a 5 1 :
; ZWTF{ 3t i . : ayer protoeg]
65, HAL ' o hlerarch e
| s ﬁq‘g =Y ¥ 1s proposed. Applications to be
AR il used in this network generate 270 bytes
qeaad ¥ g4 ;i'a a2 long messages. At each of the layers, a
L% o, 270 el oz BT 6-byte header is added, What fraction of
]_ 5 geie T oy 6- etwork bandwidth(in %) is wasted due to
- #a &l ¥ Joaw 3 ag headers?
Nl | pe3t & AT
b < S Fmm &l
v (% ) ¥ fe A S Y
‘ (@) 5% e
/ (a) 5% ®) 20%
- 20%
. % & () 10%
A (© 10%
k> @ 15%
4+ (d) 156%
> o - g 66. Match the following :
:" 2 - ' | Versions of [ Speed of
;‘. ‘802-11 & HERT T LAN 802.11 Wireless
#r aifg LAN
| 3
() [802.11ac (P) |7 Gbps g [0 GjGxs
(ii) |802.11 a/g (Q) |11 Mbps (i1) 802.11 alg (Q) |11 Mbps
" (iii)[802.11 ad (R) 54 Mbps (1i1)|802.11 ad (R) 154 Mbes
(v)[802.11 b ‘ (S) ia,s OBhs (iv)[80211 b l (S) \3'5 Ghis \
@ 0=(), @) - ®), i) = (P),fiv) - (@) @7 0)-(S), @) - ®), (i) - @), (v) - (Q
® =), @) - B 2 @, @v) - p) ©) )= (S), ()~ ®), @) - (Q, () - P
© )= ®), (@)~ (), Gii) (), (iv) — (@) © @{)-®), G- (), - (P), (v) - (Q
d. e M y sikie X
@ @)= ®@=(Q), Gii) - (P), (iv) - (S) @ @G- @), G- (@, (i) - @), ¥ -O

ICRB-371f3% aforgar T (T
fame)-2025 .-’ScientisUEngineer ‘SE’
(Computer Seience)-2023
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68.

B




e ﬁ-faa_"
|50 T > e — 2023
‘ - “;RégsTgﬁsT%ﬁFoR RECR{; rHE POST OF
| GINEER i [BMENT TO T2 110N CE) =
= AT eUIEE decessor of 156 1n
= ; re
g7, A @i e A ﬁ?ﬁr R, hat i the ;;;f?r Dol
-éqﬁT:F (gﬂ-m—\'—) C[a—‘:r(ﬁ sl %1 i Binary
(a) 18 (2) 18
(DI ® 7 101§ 20
© 9 (©) 93
(d 13 @ 1
EUlIED d5c 3TN Frofr if an array of integers (of size 2
% 2 “ i) N i 6%1:;21; ti(:u'tialised to 200. What is the
qfex p 1 YRENEHTOT 200 & fHAT AT Tl ] o 737
p+3 &1 HIeT T BN //,,T
g
206 s
(a) 2086 (a) 2 GE ;
D 203 o v
) 203 g © 19 el 1)
G (d) 204
(d) 204 _
$ M A ; . delet:
69. T GrAREAT FAR H, JAGUAIAN [T 69. cgnabirg::rlliya%ueue, insertion and deletion
T R ST Wbl 67
T? 3T (@) Front
d,
(b) G (b) Back
() Middle
© @A H e ;
r ny
' (d) e shr g WX y position
ICRB-37fere arfarara .3 (FFACT 31
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(Computer Science)-2023




&
(@) ()3 @)
) () 3R (iid)
() HEF ()

d) 3FT F & S

400 MHz ®9F 379 us g e Hifag
TR & A7 F 9y Taemrs &
(@) 20ns
(b) 2.5 s
(©  20us

(d) . 25ns

ICRB-&-Mfe 3firiar oy 4

f3m)-2023 /Scientist/Engin,
(Computer Science)-2023

(Frogey

LA
eer ‘S

mm(ommﬁmwaﬁr

=

th g definitions ig true
A digital multiplexer takes one mpug
from many inputs and outputs the
selected one

Four select lines are required for
1-16 demultiplexer

(i) Eight OR gates are required to

Implement an octal to binary

encoder

(1) and (ii)
(i) and (iii)
(1) alone

none of the above

e time delay obtained through an 8 bit

serial register with 400 MHz clock is :

(@)

®)

©
(d)

20 ns
2.5 ps o™

o

20 ps %a A\ ’pa
B

2.5 ns )5'( =

m}g o ]
L 3

(a

(c
(<

73.

H

=N

T4.

1C)
K]
(C




WRITTEN TEST FOR Rp
SCIENTIST/ENGINER

o

ﬂﬁwAﬁB,ﬁlﬂ?‘FW(mmh
mX1n wd nxp @ mmﬂmﬁ
e &

(a) O(m X p)

) O(m X n? X p)

© O(m m X n.X p?)

d) O(m X n X p)

13, TS &1 AT Too] (R e A
offg &1 S TFS ael & oS &
N-W,ﬁ(w-ﬁ-’@nﬁm%‘:

(a) m?

(b) m
(c) m(m+1)/2

(@ m(logm)

e e (g A
Gt @ IaYEdr Bl ¥, af% 384 n
) &2

(%‘UITMENT TO TH
COMPUTER

et — 2023

mxn and nxp
(@ O % P)
®) O(mxrﬁXP)
© O(m XD % p?)

@ Omxn X P)

}/From a character string of length m, the
gs of all lengths that

number of sub-strin:

can be formed are: 5 S
o =z G) J

(a)

(b), m d

(c) m(m+ 1)/2
(@ m(logm)

muth table will need how many rows if

there are n variables.

(a)  2Z2@n
(b) n
(c) gt

(@ I A FE T

ICRB-efas afwiar o A (@
fsreT)-2023 /Scientist/Engineexr sC
(Computer Science)-2023

’ W g
7 o

R 7 !

()0 2%n

(b) n

(© 2»

(d) None of the above q)_/:‘) 53}
. §

33







WRITTEN TEST FOR v
OR R POS
SCIE EC THE
CIENTISTENGINGER iS¢y f‘é“éﬁ%iga SCIENC
a7, . ﬁ ) £ g’ralﬂmar
; mﬂﬁaﬁv = Y e _al'l'q-r{n-r (“,THT{) 7 Consider l;he Sco?gei;ere:tarting non-
G @ WU T S IRPE demas | O 00 e bol, while 8 7 b are
gl &, o9 a U9 b A g & germinal S 4
gl terminal Y™ sb|T
S —aaSb|T ' =8
T Tbla T2 10 :
- . ts 1s true
. 1 of the following statemen =
ﬁmﬁ@a # ¥ G @ YT s ) Wh“‘? tl?le language L(®) generated by G
F R BT FAT T E? et -
; @) but aa
() L(G) # aabbaabb TP & T (2) aahbaal:b pelongs to L(G) butaZzo——
aabb &l & e does Bl
; 1.(G) but
) L(G) #F aaaaabbb FFAREG ¥uig ) aaaai‘gbéaoesbiings to -~ L(G)
aaaabb el & E g
pelongs «to  L(G) but

() L(G) # aaaabb FFAT § W
aabbaabb gl & 3

(d L(G) #H aaabb afFafed & W
aaaaabbb &I &

78. St § @ Faa urs (FEE aR)
§ de F W N IF H HAeE

(FTged) Fel 67 )
D..O-

(a) »a

®) T bih

(c)=— e

d -

79, wH T Ao Aedd H el &
(a) AT Fad I
b) @3 fafEFd W
(© RfEF AR swad e )

(d) Tag AR fafged g W

[CRBATRS sf¥dar Tq.H. (FFIL
fasma)-2023 /Scientist/Engineer ‘SC
(Computer Science)-2023

© aaaabb
C aabbaabb does 1ot

S
(d) aaabb belongs to L(G) but aaagabbb e
Y oes not §.-:7 Al
' <Ibb

78.. Which of the following is not a connective
of First Order Logic with reference to Al

(Artificial Intelligence)? e ~ \3
(a A Crn X bY
b v e

(d) S oo’ b

79. A hybrid Bayesian network contains
(@) Only continuous variables
(b) Only discrete variables

() Both discrete and discontinuous

variables
(d) 6th  continuous and discrete
variables b
o= (ﬁ/) g
O~
CAt O "bb 4
oo ¢ 5 an S
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|(R) [airaetrarar &1

RECRUITMENT 10
‘5C’ (COMPUTR

Match the following and select the correct

(S) |3t waeh
T3 & Hy
AT
AT

— |

@ 0~ ®),6) @) - ©), 6y g
(

®)  ()-(P), ) - ®), (1) -
) (iﬂ - R), @) - (9), (i) - (

(
5), (iv) - (Q)
) 0 -®), G- (Q _

P), ) -
» (i) - (8), (iv) P)
ICRB-3wfas 3ifdrar T (

Rsme-2023 /Scientist/Engineey

‘5C’
(Computer Science)-202 3

THE POST OF
R SCIENCE) - 2023

option:

© [Encryption  [() [Manipulation]
of
identification
of a host
(through NIC
identifier)

(i1) [MAC Cloning \(Q) Determining
|version and
name of OS
and OS

utilities

(iii)[ARP Spoofing  |(R) [Protecting the

confidentiality

(iy) [Finger printing Poisoning the

1P to MAC

address

mapping

@ () ®), G- ®, -6 (i‘V)-(@""‘
'é(b) @ - (), (i) - ®), (i) - ), (V) - @

o - ®), a0 -©),0)-®, (%V) -(Q
@ G- ®), G- @, 6 -6) (iv) = (P)
dEcva Bllanion =



8l

ICRB-dsnifers arfivaen ‘oH. Y. (FFHLT

WRITTEN TEST FOR g

HE pOST OF

St

ECR (E
SCIENTIST/ENGINERR, Sé{f%ﬁ%(ﬁgﬂ SCIENCE) - 2023

T W(Part ‘B’

A ey /aqarar o ETT

APTITUDR/ABILITY TEST .
81, Which of the following b

PrafEd & § HA A e e
wﬁmmawW
7 el e ¥ wh wdewr
g wer urd ARl & FH A 7 e
EEcaic B S B = B == 1
Frdifeh, TARTOT  H  SSHET  Sledr
Al & AT FI HH Flh ITeT
ST Rl @, FAiTH ? (13
(a) [IEUT FH AT o A FS SSH
AR 3 gdeor # SAFER @A &
grar faar giem
(b) GEEUT F HET A A FO I
W SAEER Wil o gl fSHE g
gdeTor UT AEAN HA b G
fram &t
© F o, e g A 4 3
1 23T A AT arr fha,
ag?raémaa’rm#
@ @ e ¥ fF gdewr # AGHE T
7 Ear F AT Ho AT SAEE
AT E W@ e

f1m)-2023 /Scientist/Engineer ‘SC’

(Computer Science)-2023

passage :
In a survey of Jo
admi
dishonest.
underestimate
apphcants

e

(@)

(b)

est completes the
below?

b applicants, two-fifths
tted to being at least a little
However, the jsurvey may
the *proportion of job
who are. dishonest, because

(1 Mark)
X

N e
3;/

<ome dishonest people taking the
survey might have claimed on the
survey to be honest

some generally honest people taking
the survey might have claimed on
the survey to be dishonest

some people who claimed on the
survey to be at least a little
dishonest may be very dishonest

some people who claimed on the
survey to be dishonest may have
been answering honestly
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A PP Remen & oz &
vq FTET Tliam _ 5053

forw st

;CRUITMENT 10
RRECEC THE POST OF
gER SC(COMPUTER Sci1ENCE) - 2023
d = pNE @ Find out the Wrong number in the serjeq
- 7,8, 18, 57, 228, 1165 :
¥ (2 37%) ne a g WA \'3,6996 (2 Marks)
2 o (T @ a5
'_-" @@ T b) 8 WityR < (s \) b
o i (© 6996
- (!J) 8 (e} \ u’ \f
% © 69% S G Vg v 4
' @ 228 e (' b G
A G 3
Wy — P
83. Directions : The graph givedhbelows 7
& Gedle ections graph given  below
s g3, fromfder MY e 1 AP pm— \Al;resents the variations in earnings in
i S ik TS & gad & R : rupees over a week. Study the graph and
=1 3R Ay BE T o answer questions given below (1 Mark)
1 Gl Heq g : I
(131)
F I G _
Earnings per day
] i e | 2
| . e - @
£ ‘00
1 G >
| | f: % ()
q 0
N @
_. . FILESES
s« *»*gi@"‘y*«»‘{a“ﬁ@“y ‘k&:‘f | :
™ PR " The difference in earnings was large 85. 620
Rt 2t & A1 FE T e a9 i 35
|
e ‘ @
() TR — AR (a) Sunday-Monday $ 't::,\ ” P “ ®)
2 (b) FITER — AR (b) Tuesday-Wednesday f 2 .5'\ (-300 i ©
: 1 T '
() FEEIAR — Sy () Thursday-Friday w 62 Y5 l‘, @
@ & W @ Noneofthese ¢ 60\ " ICRB:
ICRB-4snfas v, w4, (wreges £ 300 )2
o R)-2023 /Scientist/Engineer ‘SC i RS > (Compy

(Computer Science)-2023




[l

T Ty,

WRITTEN TEST |

24, ﬁfﬁﬁmmﬂtq‘. :
ﬁmmmmmm;ﬁ;%ﬂ 81,
ST &
TOyS

Years |

1982 | 200|150 (78 |90 |g
5

1983 | 150 | 180 | 100 | 105 | 79

1984 | 180 | 175 |92 ‘110 =

1985 | 195 | 160 1201125 75
1986 | 220 | 185 130l135 80

1983 & 1985 % D YR F el

sz A YRS AR gR
7 A2 A
@ 10
(b 20
© 19
(d) 176

85. szoﬁﬁrqﬁfﬁammaarmmﬁ%

e F4T &7 (2 31F)
(a) 24,025 mm?
(b) 22,725 mm?
(c) 24,000 mm?
(d) 24,075 mm?
39

ICRB-d=nfas itHadl g A (FFELT
RraT)-2023 Scientist/Engineer sC
(Computer Science)-2023

L ee—]
¥ Ry Rz & 9a F @ Gl
Sy - 2023 SET

SCIE OR
NI‘IST.-’ENGINE%EQRUIT
RS QBSE,[NT 10 THE POST OF
PUTER

Study the

s

S_QLE_PLQE)_—_?_UE?J__ e

following table carefully and
ns given below it:

answer the qucs\:iu

rcentage (approximate)

What was the pe
tion of D type of toys

increase 1D produc

erom 1983 to 19857 (1 Mark)
Qo A0
S
(a) 10
Ses
(b) 20 \_DS xltl
(c) £19 S
@ 16 ale=
=
\ © 5
%
T
What is the maximum area of the

rimeter 620 mm?

rectangle with pe
(2 Marks)

(a) 24,025 mm?* \, o
(b) 22,725 mm? g (0
(¢) 24,000 mm? '@Q' 5 f
'S
(@ 24,075 mm? %‘\gsx‘S
5
A
o o
X o
7 a Ys,(
¢S



— vl ﬁ%« e & g & fre st = |
d TUET — 9023 l\
-0R RECRUITME -2
‘NTEST,E?NEER e COMBIZI%TO THE POST OF | =8
: ENTﬂ@l”f ER SCIENCE) - 2023 \
" 3{[7!?"1' You are a il al
- ¥ retail clerk who typical]
e = R - o F7al A1 Monday through Friday. Youcaa:r‘workg g
¥ Q;T_Faﬂ 4 = s fF work and notice the new schedzz E}t’
zmma'q: qgﬂﬁ ¥ o ) e HTE gosted, and your manager has given youls
o e e a B h.aturday shift. It happens to be your son':
a5 o s 3k irthday on Saturday, and you have s
ﬂﬂaﬂﬁlqa" N party planned. What is th ‘:&
SCLG a’ﬂﬁﬂgl J e most i
Wﬂﬁaﬂﬁ o o T R.Hﬂ' appropriate response? (1 Mark)
(1 37)
e F
39gFd
e e sy gare & (a) Spea]«f with your  manager and
m‘g:aa; o o ¥ B explain you have a birthday party
IGEIES g - planned for your son on Saturday
o A rét ‘ anc% ask if they can find someone else
e g B T x o 3R HT @S or if y];)i‘-flt can find someone to cover
your s
& @y B A A g
4 3!

Tl &
) 9 TEhaar 4 q\ﬁ; & Fr 9 (b) Ask your coworkers if they can cover

R Rge & s X - yr.Jur shift because you have a
R IR, , bxrtl;izy party for your son planned

i it A Ao TG

© UFr fem@mEr # S e g]-s-{a & (c) Pretend like you did not see the

du@r g, FIf% 3T gRar R @ schedule since you always work
Monday through Friday and do not

AL I & g E B show up on Saturday 7[
) & @ #s
Cirzing B T IR Hr (d) Do not say anything to anyone, and
G o LRl plan on calling in sick on Saturday
TCREITTS s oo (e -.
fasm)-2023 /Scientist/Engineer ‘'S¢ 40 !

(Computer Science)—2023
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WRITTEN TEST FOR gy
CR b \

SCIENTIST/E
w THE POST OF
O\ UTER SCIENCE) = 2028 L g
87 _hich option 1€ places the question mark?
(1 Mark)

7. WWWH%@WW_&W%‘,

= (1 3i=)
\/_— as
s [

is to ’?

I

(a) A ;
o S 8
(c) C () [0/
d D (@ D
88, ieam fashed TR et & T ol 82 Sm Which option replaces the question mark?
. (2 Marks)
(2 3) . '
= - R0 & s /0 oV ) il Kfed
m/o| B e (®] Qrem| (o)=1 @/ Makes 15t tem Hal sz Shades Istiem
Makes 15t dom Half sze Shades 15! tom
: - - (n Ow il [ omd
o (%) OwEl m(o ) On .{ l Rotates 20d fem 60" anixlockwse St al s oo posion right
smmmw_pmww | = — — ——

Aiotatos 2nd flem 90" anticiockwise

~ ) A
BO ¢ @/’@ :‘ '

A B C D
- .r\(l

— | . b,
0 () Can8 § Pec VY

N
@ A (a) A €,
(ﬁ% B b B ®mO ¢ eC

© C ) ©

@D @ D S
[CRB e s T EFEE 41 '- s

Rrmen-2028 /Scientist/Engineer SC
(Computer Science)-2023




(c)

[CRB-3fa% sifiriay
frsme)-2023 (Seientig
(Computer Science}-2023

‘mzﬁ.’(ﬂ?m,g,r

42
UEngineer 'S¢

Which option replaces the duestion myyy

(1 Marly ‘

y

(a)
(b)

(d)



T s ﬁmmaqa—a:mmﬁ
~='ﬁ'ﬁm‘:Fv’t’ﬂmrzcaz:’, SET

ST FOR «
SCIENTIST/ENGOR RECRY;
ERR iy IMENT TO THE POST OF

gg4i:‘r'a

| ==
g0. weed FET & TAF R AT 3wy __I_{__S_QEE_I\LQE)—zoza_
@ Which one will replace the guestion mark?
(13 (1 Mark)
N )
Q
25 ;f %
2 e o Q
(a) 45
b 8
(c) 38
(@ 48 ) 38
@ 48 Opg < >

places the question mark?

o1,  imar fawed SReT fEe H A o 62 g1~ Which option 7
(2 Marks)

() sy
() B
@ C
@ D
ICRB e HfAACT W.ﬁ.’(ﬂ“{a 43
famen)-2023 .-’Scientist.-’Engineer ‘|C’
2023

(Computer Science)-




& ST
N TESTEOpER
stggﬁrﬂsmﬂmg [

g €
e T g OO
: mﬂZ:ﬁ@ﬁgﬁ%ﬁﬁ@ﬁﬁ%'
. 1 .y EATed
s o e
7 mwﬁﬁﬁﬂmﬁm
/ iﬁﬁ?. aﬁaﬁﬁwﬁﬁ
' i
I: gﬁm 2 i"i};}“
fors aett &1 € |
() ad 1
(© aa 1l

@ A% of o T T T

93. m;mﬁrﬁﬁaﬁaﬁmmﬁ?
& afoisas &% 30 @ Jad @
ST g W ek oA
Fegafiid SRe-RuAe A RO
Fafed & & v s Reg
¥ & e F1 Iedud F © 8l

FNars & 9ihar :
L affeas d&F § Gefa ARl
FI fAcfed f&ar ST g
L IREEmE # affcas $&5 5
fAder & & VhAF [T
EURY! (1 3%
(a) mlﬁ'ﬁaﬂ'(u‘]'mi
(b)  FaS IT 3RO & &
(c) mm]mllmm%
(d) ;ra*ruﬁtmg*rnmm%

oo,

A

ICRB-371fa= 3rfdrrar THHL (S
far=meT)-2023 /Scientist/Engineer %E <
(Computer Science)-2023

B

93.

e (FFIR R &
@ ¥ R st
¢ e wem 9094

or RECRUITMENT 10
F SC (COMPUTOHE POST OF

92. -
2. _~Fact1: Picturescantella story, G
Fact 2: All storybooks have pictures, -~
Fact 3 : l

If the first three state

t ments
which of the following statemear_:
also be a fact?

ER SCIENCE

Some storybooks have words —

e facts,
ts must

i Pictures can tell a story b :
words can. S

II. The stories in storybooks
O~  simple. e ™R

III: Some storybooks have both words
/ and pictures. (1 Mark)

(a) Tonly

® Moy (I

(¢) TIII only -

(d) None of the sta ts 1s a known

fact : |

tatement : Bxporters in the capital are

alleging that commercial

banks are violating a Reserve

Bank of India directive to
operate a  post-shipment

export credit denominated in l
foreign currency at
international rates from
January this year.

Courses of Action:

1%

1L

(@)
(b)
(©
(d)

The officers concerned in the ;
commercial banks are to be |
suspended.

The RBI should be asked to stop f
giving such directives to commercial

banks. (1 Mark)

Only I follow

Only 11 follows

Either I or 11 follows

Neither I nor II follows |

Y EN _\
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PForey tyoren % o2 ¥ farw el

g T e SET
L WRITTEN Thst pop Tfem 2023 c
I SSCIENTIST REq
Jqﬂl\mn‘TE’a}R ‘é‘ng‘MENT TO THE POST OF
9. 35 BT P,Q R, S 1 vy - COMPUTER SCIENCE) — 2023
IR Wﬁzﬂn‘i AT I ¥ Y o " Eight friends P, Q R, 5, TEIV, W and Y are
1 31s aqﬁa sitting around a square table.
EE 3T'|T' L I o ﬁ?ﬁ cj;l & Out of eight, four persons are sitting
g A qAT E e T at the corners of the table and the
& Heg foig ov &% ¥ ST g other four are sitting at the mid -
4 2. @l W IS =ufFg points of each side of the table.
: T Iy 9 Persons at the corners are facing the
w® 8 S§i% il ey o g centre while the 1}er_sons at plée mid -
aiag e : oints of side are facing outside.
for 3 T 3R 2w W® & h 3. IEJ') i?thircl to the right of P. P is facing
3 S,Pﬂ?m#mmw%lp the centre. A b —
FI A 4. Y isnot sitting beside I or &
a7 & 3T I 5. T is third to the right'ef R.
4. Y, P T S & Fael & ErgCra | 6. R is not sitting at the mid - point of
5. T,R & e & drwr any side of the table & =%
5 &l 7 R : also not beside Y.
. 15 .
6. R -‘Z‘%:—aia;;] ar fFay & m'a-ﬁ'q 8 There is only one person between P
EES | and V.
7. RANY F F91a & el &l 9. Qs not sitting beside V.
8. P 3R V & &7 &ad Us afEg g How many people ware there between
9. QV & Il & A&t dor &l T and QF %M"“ks)
T 3R Q & 919 el &er 872 (2 37F) o
(@) 1 (a) 1 o
i N o \
¢ c) o« -
r- (d) S BT (d) = None R &
9.  FAar AFeT U2 et o Tk aar g2 | 95- Which option replaces the question({nﬁgalﬁi)
(1 37)
sl el [_—] se | 2 B
{ —
« EMBEB
1‘ E E 2. E E
. BB 6
) \
(@ 1 @ ¥ 5
(b) 2 : . |
(0 e 4 5
(@ 4 o
ICRB-Afare Jrfvian Ta AL (FFAET o5,
&

faT)-2023 /Scientist/Engineer sC
(Computer Science)-2023




